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follow the instructions on the OMR Answer Sheet for marking the responses and the required data,
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(i) The same booklet code (A/B/C/D) on each page, (ii) Serial Number of the question (1-200),

(iii) The number of pages and (iv) Correct Printing, In case of any defect, please report to the invigilator and ask
for replacement of booklet with same code within five minutes from the commencement of the test.

Electronic gadgets like Cell Phone, Calculator, Watches and Mathematical /Log Tables are not permitted into the
examination hall.

Darken the appropriate circles of (1), (2), (3) or (4) in the OMR Sheet corresponding to correct or the most

appropria_te answer to the concerned question number in the sheet. Darkening of more than one circle against
any question automatically gets invalidated.

There is a negative mark of 0.2 for each wrongly answered question. The total marks calculated for all the
wrongly answered questions will be deducted from the total marks obtained by correctly answered questions.
Rough work should be done only in the space provided in the Question Paper Booklet.

Return the OMR Answer Sheet to the Invigilator before leaving the examination hall. Failure to return is liable
for criminal action,

Question Paper Booklet shall be taken away by the candidates and should be preserved till the declaration of
results.

doubt or ambiguity in an question, then the English version is considered to be the correct version.
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i , you :
1f you study hustory, ¥ that all stories of success are also

2)  thi cli
1 &tk B)  will find S of great faj

knOW es,
- = ___‘_—__—‘_‘_‘_‘-N—‘__
/J;\!\" mothef ——— the newspaper in the Morning
g reading was reading

\_—l

: 3 r ;
Ul s & T ) willbe reading
= ---I qever f cel that I am superior anyone
2) t '
) than (2) to (3) for (4) on
- = W ____—_-_______—'———___
— e police — arrested the thieves,
4. ) has (2) have (3) is 4) are
o < _____‘_‘_‘__'_‘—‘—-—-__
5/ | always listen fo great speeches carefully so that | implement them in every walk
- of my life. £y
J() had (2) was 3) am @ n
6 The teacher ______ completed this chapter.
1) are 2) s (3) have /(})' has
—— — §
7. Indiais_____country. EveryIndianis_____ jconin helping the poor people.
L aan )2) an, a () a,the (4) of, the
his fri s invi
§. Rahulandhisfriends __  invited to the party by me.
(1) is have been (3) was (4) had
/
9. lhavedonea__ deal of work.
(1) big (})' great (3) huge (4) enormous
10. A pair of socks | been missing from my room.
)h has (2) have (3) is (4) are
11/ i
» She_ I cannot disturb her now.
has been resting (2) had been resting
() isresting (4) wasresting
= Peopleoften game i s.ports " Spﬂl‘tstfg;éi?es- (4) mistook
(1) mistaken (2) mistaking )39
13. an appointment with the docér soon.
A ppomt m makin 4) was making
(1)  will make (2) hadmade ) g ®
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14. Either of the foot paths _______to Superintendent's house.
(1) lead (2) leads /(3) have led - (4) isled

15. - Back in my native place, we ____ good internet.
(1) doesnothave (2) wasnothave (3) did nothave (})] had not have

16. The antonym of "opaque" is

(1) Fragile Partial

(3) Transparent ’/Eﬁ?) Broken
17.  Either Maya or her friend Manju responsible for the picnic plan.

(1) are /Z_) was (3) is (4) were
18. We two daughters.

(1) will have (2) has )3’) have (4) having
19. Radha and Rima business partners.

(1) are (2) s /(3) was (4) had been
20. The synonym of "hard" is

(1) beautiful (2) firm )3«) soft (4) weak

Read the passage below and answer the questitﬁ:s (21-25).

Ms. Yanada recalls all too clearly that mid-summer day in 1945 when US warplanes dropped an atomic
bomb in Hiroshima. A second atom bomb was dropped by the USA on the southwestern city of
Nagasaki three days later, forcing Japan to surrender to the allied forces and bringing the Pacific war to
an end. More than 1,40,000 people were killed instantly after the nuclear blasts and many more died in
the months and years after. Victims continue to die each year from cancer and radiation-linked illnesses.
Today Ms. Yanada is part of a group called Japan Confederation of A & H Bomb Sufferers, made up o
survivors like her struggling for a fair deal in life. In Japan, a vast number of people are still lobbying the
government to give them the status they have been denied for so long. Ms. Yanada’s group make:
frequent visits to the offices of the influential members of the district.

21. people were killed instantly after the nuclear bomb blast.
(1) Only 1,40,000 )  More than 1,40,000
(3) Less than 1,40,000 ; (4) None of the above
22, Japan was forced to surtender after the bomb.
(1)  first S;Y second (3) third (4) fourth

23. Victims of the atom bomb blast in Japan continue to die of
)  Cancer.

(2) Radiation-linked diseases,
(3) Both cancer and radiation linked discases.
(4) Neither cancer nor radiation linked diseases.

34563-C / ET s 1L




24. Japan Con-federation of A & H Bomp, Sufferers is made up of the
) survivors of the nuclear bomp blast

(2) dead in the Nuclear bomp, blast
3) Ch]llc?l'en of the People dead in the nuclear bomb blast.
(4) relatives of the People dead in the nuclear bomb blast.

—

The US dro d
25. 1 pPpe ————————— onHiroshima,

(1) one bomb ( two bombs (3)  three bombs (4) four bombs

26. 1f 15% August 2022 s Monday, then the date on Monday which immediately comes atter
15th August 2024 is

2022 & SoSefyBo estsS 15 % &4 RS0 @wands
ReSa"60  BES S008F & S

, 2024 & BoSeSyBo S 15 S Suge J0eI Sy

/m 20 @ 17 (3) 18 4 19
E
27 If (256)*° X (16)45 + (64)16 = 4K then 5K + 4 =
2.8 3¢ (256)25 x (16)45 + (64)16 = 4K wond, 5K + 4 =
(1 70 (2) 65 B 75 (4) 100

If LCM and HCF of two numbers x and y are L and H respectively, then
x Bk y 3 dogge Bug), & Je. th. S8asH . Av. g5, en SEIe L So8asny H o, el

_L @ xy=L+H 3) x+L=y+H (@) ¥=LH
Y

T | =

)

29. A train is crossing a platform of length 200 meters in 45 seconds and man standing on the platform
in 25 seconds. If a man moves in the direction of the train with a speed of 2 meters per second, then

the time taken by the train to cross him is
1
31— seconds
@ o,

Bahy SRy o arlardods a8 Jeoo 45 REZS, Féarto D JOD &y 538 25 8PS
200 avexd e BAS® BE5% Botd DS Stfoss® SEOX® e0el, B Crerend

Dotnehod. 28 55§ gew édﬁuesoa
Fenth HE3 Hvoso

1 7
3) 33— seconds 4)  19Z= second
(1) 20l:- seconds ®) 3 4) 5 seconds

1 2
1, 33— Do 4 102z
511 206 3 V@ (4 19~ RSogs

(1) 202 pfop (@

LT
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A is thrice efficient than B. To finish a job independently, the difference of the days they take is 60,

If both of them work together and complete %rd of the work and remaining work is done by B

alone, the total number of days they took to complete the work is X . 3
B So&§ A Samcty Bgp Ao ey, 3 Kgfofore DSO8 T3 2.8 HAD WY By, T°68 1¢

Eere Beso 60. SBEHHD SO 6D BB L5 artfo HID el BH WAOS HID B e, d B, @ B3
3

M 75 (2 70 () 675 (4 725

(1) 286 2) 572 @) 352 (4) 248

30.
Q0 S8 5008 DS dweso Bexres Komg
31. 45[—0f—5-+6—lx3+l§ =
6 2 7 14
32,

In the given four digit number 3x57 and in

the number formed by writing the digits of the gives
number in reverse order, the difference of th

e place values of x is

RS Teorh woBe Doy 3157 S, mAS RopgS’ wosey BEAD b STy KowgdSh .
g, S Jende 3¢50

(1) 1000 (2) 190 @) 90 @ 10

33.

The average weight of a group of men is 77.5 kgs. The average weight of a group of women

70 kgs. The average weight of all the persons of both groups is 74 kgs. The ratio of the number ¢
men and women in the two groups is

28 HBHDO DBSwreSro A, DoPRB 208 77.5 kgs. 2.8 530 Rrdro B, Doedd 28 70 kg
ot Hharr5erest) 555_%)&) DOPH0 22838y 74 kgs. &3 BoX DBarGserest &R) DD ‘cﬁozpé é:&cﬁ:oé
:C)oaagv QPNH

34.

(1) 5:6 2 8:7 /(/3; 12:17 (4) 10:13
/

The wages of 3 boys are equal to the wages of 2 men. The amount of work done by 3 men is Tgti
to the amount of work done by 5 boys. If 40 boys and 15 men worked for 8 weeks ;Jocozl,pget'
work and the total wages they got are equal to Rs.12,600 then the wages 20 boys and 20 m

complete that work is (in rupees) P endh &
B20thth 2ent Befo B BTV B BSTSo. Bxfhth KHBTHes BHHD Lo &

;
B8 B5rS0. 28 HAV {1 BoHEEAS $oP Dod erentd, HEIH Hod HEKHL 8 5‘;;“&:
Bechs 560K T &roBS Ao Bodo 12,600 Ermarchen wond, e HID ey SaHES 80
TPV, BER B0 Hhpen &rod deo (Erarahed?)

(1) 12,285 )z) 12,730 (3) 24570 (4) 12570

/ T
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wond, $e880, Babasdne Jwrerge Y

(1 8:9 @ 16V3:2 B 12:13 @) 16:124/3

e e = .
t . ]
3. 1f 123 more articles can be bought by Spending a certain amount when the price of an article is

1
decreased by 335% , then the number of articl

the same amount is
1
S0 SES* 33-5% ShoiScso Sey Eves B

&0oQ) aﬁn‘ﬁnd) E°5¢101 DHes ﬁoms
(1) 369 (2) 246

37. Pipe A alone can fill a tank in 24 Mminutes, Pj

alone is opened for x minutes and pj
30 minutes. Then | X=y|= (in minutes)

o A 2258 208 G 24 Dsaperss nox
& DI, Feyo B 2.8 65 28 S -
25 A 28,65 x Dren, 1S B Y Do Hnge o b B 36 dvaperest RoDfercsy,

€s one could have been bought without discount for

S 123 S55en A5 BSOS, wd S0 55e5°

3) 123 (4) 492

1 12 2 10 B) 8

38.  The fraction equivalent to 2.57 is
257 & REY DEE [0S AR

232 232 25
1 == 7y = 2y 2
99 ) 50 ©) % @) %591
39, Ina evlind e - .
A cylindrical vessel of height 14 cm and radius 5 cm, seven sphere i
€ amount of water that fills the cylindrical vessel is (in cubjc CrrI:) $ of radius 3 em were kept.
14 0. &) o N, 5 0. & o Feggo o JIRPSER) Aeesest 3=
—_r 4 P Pt ‘00'5)-& LoD
S0S)AS5D), es c‘gJ"abvsvdo"Q) e85 Ao A HBSeao (8. Do.&y S TEGo o Ak &
(1) 308 (2) 452 @) 336 @ 412
0. The ratios of the ages of two persons before 6 years and. after 6 years are 3 : 8 and 7 : 12
fespectively. Their present ages respectively are
© NoSefyomer Focses, 6 Soibeyome Soge GO OB Dpeen Serrm 3:8 %bat 7: 12, a6
B0es SoHioyen SEde
1) 10,30 @ 20,35 @) '5’3“\7&5
o :
34563.C / g T
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: 15 | _
o o)

(A 15

-~ o artnership by i i
~42. A and Bf-(‘n::r/\l r?:toli:epr:tcl:faf 1()!‘;3 ge;I;\:s::;g -113 S. 24,000 each. But B has borrowed his investment
- 01 L . . - ’

amount = At the end of the year, if B'g inc(:,la()k after the business, B will be paid Rs. 120 per

me is half of the income of A, then the total profit

is AS® A S8afy

& & Rs. 24,000 DEoes B ey oy
;i?c!:bb‘e‘)fﬁ 10% 3G TS o) BoBmes,, E:‘gumsﬂw&- S B &5 bewad ey A
BHHHHTTE- K)D:’?jbméoess B8 SRS BEraho A & 879 Defgsveg 8065 I Rs. 120 o 2By B

;:)a!)é oy o,
" 2 9,660 TPAH06S* KBifo eaxndd
(1) 10,080 @ ®) 12,000

43. Ratio of A's last year salary af‘d current year ga) g :
salaries of Bis 2 : 3. The ratio of the last ary is 4 :5, whereas the ratio

a 10 @) 20 4) 25

month as salary.

Rs. 25,600, then A’s last year salary is (in Rupeeg) > % A& Bis3: 4. If B's present sala
A Gog, §oc5ed DoSHE B0 KBk Hrives %og%d 86 o o
2:3. A SH0as» B o §o5e3 DoSSNS 2amve, DB 3 - 45’11)9_1 DB 4:5. B B, B3 Bere QB
A g, (1S Soseys B0 (Srdrchres?) = 7% B oo 9% deko Rs. 25,600 esond,
(1) 12,800 (2) 16,000
! (3) 15,480 @
£ ) 10,800
44.  If the 5 digit number 57xy4 is divisib]
e by 11,
(1) 8 2 o9 4 &g;l Ilull’lz'lber of such possible numbers is
734 ©F 5 eose Rog 11 &5 erfoHead s, avey DeEgtodihg QSompger 5:;:5; T
1) 8 2) 9
@ @) 12 (4)  eSosBosdy
45. Inaday the number of times both the hands of a clock coincide is
28 8%29°S° A K506 Bocss SN 28T’ 2,563 DAL DEZSDJ I e Sozg
1) 24 @ 23 @) 11 @ 2
46. i : ;
'::}‘20 cyc_llﬂfts start at two points A, B which are separated by 300 meters and moves towards each
;r;\n speeds 10 krr'lph and 5 kmph respectively. From A one travels a distance of x meters
and then both of them interchanged their speeds to 5 kmph & 10 kmph respectively. If both of
them meet each other exactly at the center, then x =
300 oesy B80S &Sy Boks Dot en A 5¢5 @SS DESen SEHIE Hoddrh 10 3.2b.
) 500050 B © $& nEsd 2ES
B 5 8.2, IosF 2.8 SDE  RoEES Hosreao Incsenredd. A od 285 ¥ et
BASreBodS Sthared RN BHHEP HEHGo a0 Irres Hotrd 5 8.8, KB 10 8.D. o
SBNHDTNKD. oS AGE PYNSore B0GgS° E0Y, ewsned x =
(1) 50 (2 100 @) 75 (4) 475
A
34563-C/ ET g TR



skeeper bought each packet of 12 articles for Rs.51 and sold them as a packet of 15 articles,
47. A F]I“;(!ur RJ 71.25. If he gets a profit of Rs.90, the number of articles he sold is
cach e HEE

58 12 Sppo dg8ey Rs. 51 3t F{NS 8 aredd 15 S0 a'ts“ggg.qnnﬂjﬁfo, %@ Jeg8en
i?q 71.25 863 SRS 28 SO 0B, @D Rs. 90 erafo £7), eesidd ey S0 Sowdg
(1‘)- 90 (2) 270 (3) 180 4) 120

-, On a certain principal amount at the rate of 29 per quarter of an year the simple interest after
e 24 months is Rs. 960. Then the principal amount is
(1) Rs.7,000 (2) Rs.5,000 3) Rs. 6,000 (4) Rs. 8,0000&) -
£be @den D BB S JveH 2% TS, 24 IwerH wond e S 960 SrarabHen. ey
eden Snefo
(1) &».7,000 (2) &».5,000 (3) &».6,000 (4) 6. 8,000

e

49 _The marked price of an article is Rs. 800 and a customer buys it for Rs. 612 after two successive

discounts. If the discount offered at the second time is 15%, then the discount offered at first is

800 Errarafhen HEE3eS 656 &) 28 $059%0 DIRBTHTEEs SEsHT Boks A Trond Brotitio trgoe
Rs. 612 0% Fc. Boths 378 8085 Tvand 15% erond, ZnEar 2rodsS Trond

1 12% 2 11% (3) 20% (4) 10%

;:—Eertain amount is lent for 30%, 20% & 10% compound interest successively for 3 years. When the
same amount is lent for simple interest at the rate equal to the average of the above mentioned
percentages for three years, the difference of the compound interest and simple interest is Rs. 580,
Then the principal amount is (in rupees) _

o S0 SEHG SEde 30%, 209% 0000 10% S Lareds SED RoNBT 0N 35IEK8,
o3 &) Sk SodehoreH 1S BN G TS0 o0 $& FEVS 2 S5&8 73 S558,
Z5G0 Bt . 580, sand exnt wbes Sngho (Srarahed?)

(1) 5,000 (2) 6,000 (3) 6,500 (4) 5,500

51.  The force between charged particles is called

(I)  Electron Magnetic Force (2)  Strong Nuclear Force
(3) Gravitational Force (4) Weak Nuclear Force
6388 Sere g% S0l aerd) BT,

(1) DegEchImod weo B2 Solg 2eo

3) 5EREE e Deo (4) S8 Sy awo

52.  An electron moving in a straight line enters into a non-zero magnetic field and goes undeviated.
The angle between the direction of its motion and magnetic field is

&8 JOFS J6¢ n Srdo ot HATPEBEE DSwSo Bodom ©OHIY 05 FeSos5™DE $I3300.
BN BFDH S8 @aHIY0es Fards Sogsg ey 8°%ao

‘724 0° 2) 30° 3) 45° @) 90°

M563.C/ ET. 9 il




he form of a coil, liquid etc. is

\ 53. The mosquito repellent used at the homeint . s
(1) Sedative (2) Pesticide (3) Insecticide (4) Fgrtl izer

Eioess Bt Eeléo 850 fFes® SGHSEw (cofl), (5550 5D Erared® Tud
(4) e

(1)  Soghodotd 2) Hrhe S /) 85304550

al cell, plant cell and also in animal cell 7

54. Which of the following compound is present in bacteri
(2) Histones

(1) Cellulose
Phospholids

(3) Non-histone proteins (4)
& 308 TOS® D $yEssy (compound) exglBasr Keaods?, Bw), Eea0S° BN 20DV C0N
o &0enod ?
: /]—) dewrges s @)  frgeoe
55. Match the following lists.
” gj’* Id List II
A andrayan | o g
(B) Mangalyan Eli) Ilnng;:': ?fﬁt !Lmar probe
(G} astrosat (I) India's f{rst inter planetary mission
& 06 DL BBDOBOE. irst space observatory
(A)  SogasrS I
(B) SorsasrS () eroaddo qng) anpanss Sogne p 56868 BArK
© e (:2 w:z:% D) TogToe58 w086 (i S
% (IM)  gr588%0 Gwk) InerToesd ©o¥BE $680¥ Solo (waydiod)

The correct answer is / %8 @015 $STS S0,

(4) - 1), (B) - (M), (C) - (u

/g (4)- ), () - @, (O -
@ (A)- (), B)- (1, (C) - ()

@ (A)-m),®)-a, -y

56. goﬂing Point of Water in Kelvin Scale is
33 8.
Qg 2SS P98 8IS S5 5nes®

1) 100 2) 27315 @) 0 4 37315

V7. glu'ch of the following contains CFC ?
Varnish  (2) Wall paint ' '
CFC @083 &3 808 ae5* Klﬁ@i& . () Refrigerant (4)  Aerated drink
|
D) =X (2 H%e 200 (Wall paint) /a) 880858 (1) roE &ras RO
/

1563-C | il
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58. In which of the following Cities js ¢

| 59. The escape velocity on the surface of the earth s
2 &00B0D Herahis Jefss, Jend

1) >8km/s @ 11.2kmys 3) 19.6km/s )

60. Match the following lists.
List-1I

:
!
|

o List - II
mineral component of) (Mineral function)

N R () Redox reactions
(B) Plf..iStLh min (IT) Maintains ribosome structure
(C) Middle lamellae (III) Stabilizes protein structure
(D) Chlorophyll (IV) Formation of mitotic spindle
& 808 HEEOS BSBSS0d.

HEIE -1 5 - 11

(e9:50330350) (83230 BwE), DY)

(A) DOEZN () gasr8ystes 85
(B) RIS (I) BB DTRETRY) VEGrd
Q) HoesgHeds (1) &S Dogeay FODET0d
(D) 5656335 (IV) D025 S0l 80558

The correct answer is / 58 @005 JSErSE®.

(A) (B) (© (D)

)o@ @v) @ O

(
@ @ o @) @O
@ @v) @ @) D
@ @ @ @v)
61.  Which gas leaked during Bhopal gas trage(;ly i‘;:}?& ?
(2 ane
) detan (4)  Ethyl Alcohol

)  Methyl Isocyanate(MIC)

1984 ¢5° 2200 &S TPod Bogerse’ DAATD (leaked) Trosny D4 ?
&

A (2 @BS

I s (4) &3S e5er) S
PO DV

i
1l RN

- 34563-C / ET
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62.  Match the following lists.

List - II

(Available in)

Maize
Wheat
Pumpkin
Spinach
Bitter gourd

DL - 11

(D8 vocrad)
S0g) 57y
(E Y
(OSpdsead
JroEyd

seE8

List - I
(Bio fortification)
(A) Vitamin C M
(B) Mineral (I1)
(C) Protein (I11)
(D) Vitamin A (Iv)
(V)
&3 808 DO 2355E S0,
AL |
(TR &55580)
(A)  DéS-C (D
(B)  ®esisoo (1)
Q) g8 (I10)
(D) Dders-A (IV)
V)
The correct answer is / 58 eonS SV
(A) (B) (C) (D)
® @ @v) @y (I
@ (V) @av) @
G V) av) (m
4 @) @ @ (@

63. Which of the following is an operating system ?

(1) Oracle )

Java

(3) Win runner (4)

& (8o BS° eSTBOR 1YS (operating system) D6 ?

Linux

(1) eaoss (2) @or (Java) (3) IS6%6 /A) 8358y
64. Unburnt carbon particles cause the following problem
(1) Cardiac problems (2) Skin infection
(3) Throat infection (4) Respiratory problems
s*od (Unburnt) s7)S Srasimen & (Bod S35 s*8esio
(1) oG H023080DS By (2) S0 @otn F°gH (Mogdea)
(3) fToed evotrn g (Kofuea) (4) &SN BgSP Sodg
34563-C/ ET 12 Tnuihl
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(1) ‘Ca’is mobilized ¢, othe

I parts of th
(2) 'Sisalwayst e plant
(3) ‘Pis mobi); : ransported to other plant parts in organic form -
4 ‘No’inth fZed to younger parts of the plant through phloem or Xy f; o
€ Iorm of aming acids is carried to other plant parts throug y

(2) ‘g ﬁoédﬁ EeHoes® ;img& A, RAE grrrerd> BT 305_)33({,)&)0'5
' &
(3) P RS Severern B8 ooy Ggon Se8 Bws, a0 eeH BTE SoHeaeio

@) N2’ oS & tirhoes® TREE) Trgoe Rest Is), A0y emedd 23'-‘5,)&&)&)05

E SRR

R .

Matc! 'he fnllowing lists.
L | slers) :ii’ztr:f[ano)
(A) Dr. Virendra Kumar (I Heavy Industries
(g)) g; ;{i;::dga N.;th Pandey (I) Social Iustigefr E:c-l}iln i’rlr:)pgc})’werment
2 a Sin i
ED) Dr. Subrahmanfram Jaishankar Eglf)) gilsaﬁzﬂﬂairs
&1 808 HELD e3BES0d.
HSST SIS 11
(Soolgoex) (zpe0)
(A) &E6 H0olE HErE I ord HoEHe =B
(B) g6 HaroldTE od (1) el Toyed oD FHs0E TP
(C) wgb ddols bof () 8) wof Bspod p JFad
(D) wEd Slpddege adodosb (IV) 988 SgSstore oy

The correct answer/ $08 890 K)éﬂ;;%(i.;
) (A)- (), (B)- V), (© - (D)-
8 EA; = gI)I) (B) - (I1), (C) - (1), (D) - (IV)
@) (a)- (), (B)- O (© - (D) - (IV)
@ (A)- ), (B -0 (© - @) (D) - (IV)
e s

67.

By consuming in large quantities, which of the following alcohol causes blindness and even

death ?

hanol (3)  Propanol 4
(1)  Ethanol (2) Met 4)  Butanol
& Bop TBEF D ey ©08 Ingind’ SHEID S0 voteizin fbaks Sreain Kre
5025000 ? .
13
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68,

Alloy) are

The Constituents of German Silver (
2) Ag Ni and Fe

(1) Cu, Agand Zn
@) Cu, Zn and Ni

(3) Fe, Auand Ni
23S Dexgh (DoF S%5m50)S° @od &Gk
(1) Cu, Ag %80 Zn @) Ag, Nisodas» Fe

(3) Fe, Au So8as» Ni /) Cu, Zn 0805 Ni

69,

Which of the following gases is released into the air by automobile exhaust ?

808 D arcsn) e BnBS Kok SenSaE LT TGo° 8 35506008 ?

(1) Co }?) CO2 @) SO2 (4) NO2

70.

Which of the following fields does not have the Nobel Prize ?

Literature (3) Physics (4) Mathematics

(1) Economics (2)
& 306 IS SBS exirosd (Nobel Prize) 9 SoK&nd® Bt ?

(1) e8s 7o (ﬂ areegin (3) s 7o (4) i3 TR

How many pillars were identified under Digital India Program ?

BabS soldir S (BrD) (Bots AR Hogreds (pillars) HBoDT#E ?

m 3 . @ 9 )}') 11 4 5

72.

Natural Disaster Management Authority (NDMA) is headed by the

. (1) Health Minister (2) Finance Minister

(3) Home Minister (4) Prime Minister
DHB JH6arge Ao S0P (NDMA) &3 808 a8 EIg6506° B

(1) 8% g 5Ho@ (2) 0% woge Ho@
)

34563-C/ ET
n |11




73, Which type 'of ecologicai a
temperature is 25°C and Tainfa)) ;
(A) Reduced leaf lamin, s
B) Deep rooted roq
EC)) Thin cuticle ' SYstem
(D) Well developed m
(E) Root pockets Pres
(F) Well devel(Jped a
(G) Single layereq en;

>
: se gre
® are present in plants the

©8s than 25 cm/year ?

€chanicy) tissye
ent

(A)  §e30DS Hes SH¥Say
(B) &S%ne TEDoNS 3
€ SR oSy

D) & oA Foas ) Senpge

(E) S eden sop Pt el SEWN

(F) e 9@&5@ DS TS afayes
(G) =8 SED e aav&’svg::ﬁd&:m N
D OO.6 @ g ©

74, Match the following items in Ljgg

o\ 555§§

(A), (B), (D) ) (A) (O, (E)

in conditions where
S W

answer.

List-I (Names of the Sci

: entists)
"5 (A) Albert Einstein

List-1I (Major contribution)

I Discovery of Electron
z (B) C.V.Raman (I)  Quantum Statistics
- (©) ]J. Thomson (IIf) Theory of Relativity
! (D) S.N. Bose

(IV) Inelastic scatterin g of light by molecules
& 8ol erdae - I 59 wome wdes

- I 6% Somoas VOTOE 2ZB5Y), J8% ‘n’aaﬁsvwm&a
JOHE 08,
hge - [ (TRepe %) wedee -1 (adpg ©o¥Traren)
(A) SO 3,5%5 (I QTS B BAGSes
(B) 2.9. ovz%5 (II) s%xoto Kesrox TR0
© == TSNS - (D) Y RTEodo
. D) 235.08. &% V) emHos’ sob ohapss sogse

i The correct answer is / 58 e900S 63?;;::‘35)5»
1) (A) - (), (B) - (IV), (O - (), (D) -
(2; EA; - EN), (B) - (1), (C) - (1), (g; - gg
(A) - (1), (B) - (IV), (O) - () f) e
/o (A) - (1), (B) - (), () - (D),

""--___________

: 15
34563.C / ET
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and industrialization

75.  World energy needs are rising mainly due to .
(1)  Deforestation (2) Increasing population
(4) Natural calamities

o5 dBHSTHOD

(3) Inflation
oen SoggorT &8 Bob &0 &
g DB KB B\ BB

DDots F§ D) e
(1) eEsdHen 2906580 DDFHE0 ) e
(3) BSkepeao 4) DES SDborgen
76. India signed an agreement to sell Brahmos supersonic cruise missileto ______—— recently.
(1)  Ukraine (2) Srilanka (3) Philippines (4) Myanmar
LY SdBHDE §e30 B8 eiymd8 erod eyotio BRSH00.
1) &30S 2) §oos 3 2055 @) HoaHagd
ements is not correct about Jinnah, the Muslim League Leader ?
916.

77.  Which one of the following stat
(1) Jinnah played a very important role in the conclusion of Lucknow pact in 1
(2) In 1929, Jinnah formulated fourteen points and made it clear that it was only on its basis |
unity between the Hindus and Muslims would be possible in future.

(3) He has nothing to do with the inception of Muslim league in 1906.

(4)  Under the leadership of Jinnah the All India Muslim league passed 2 resolution at Lahore
the separate nation for Muslims in 1944.

&3 §08 HISSZNOS® DB HoTHRS ©d B Howofod KOS (not correct) ?

/}J 1916 &85 2:5)065065° 23R gy G0 S,
2) 1929 &° 14 Sregives S50 6 wprbornd EDAGHE’ drochiden $8080 SRow &

3¢S oD HEGoBP.

(3) 1906 a’:»;;o OHf D Q‘boddoeﬁ's DenS0ed Jeed Sek.
@& godosr SwYo HE 1944 HoSe5yBoS® o6 &° B3y TPOHESIS HEeSER000 Swo

(4)
HBgE B0 ASrol B35 Bomdoiscsn 230008.
OMAIN’ is written as ‘ALJXFK'. Then in the same code langu

In a certain code language ‘D
‘RATION’ is coded as
0,6 K% rioé® 'DOMAIN' & “ALJXFK’ o R 08 8§ 2rS5° 'RATION' Bw), 86

(3) KLFQXO (4) KLEPXO

(1) OXQFLK );a)’ OXPELK
. and these are related in some way. One entity and g

79. Two entities are given to the left of :
given to the right of :: . Selecta suitable alternative to replace ‘?’ so as to keep the analogy.
BHSS 1 6 EHJS 28 DFS0mr HoeolRY gONS Bocdy Soesgimen (entities) Bqe
0050 & HASDHS 28 SQoesgsn (entity) e 7 Bod). & Soworrl) searaetdn 7 L &
AN B0 SPEN 258 SaHod.

PEN:35:RAN:?
(2) 32 (3) 33 (?/ 36
7 —

1) 35
Qi

78.
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o married “
(vlv)h Santamulgl;drabhattaﬁka" the day, h
(3) Ehuvala Sant, Bhter of Saka King Rudrasena ?
o 65 Do Mula (2 Mahariputra Virapurushadatta
e 53&’1:@@5 d’dﬁ?agg) R'-ldrapl.:rus.l*m Datta
(1) DS Foes Sywe, - VI DA ?
(3) DTV BoKames (D) S8 HsLEHREHE

The Council of Ministerg of
(1) RajyaSabha only

(3) Both Rajya Sabha ang —— 52 ;01( Sabha only
el HEHESS Sood SES0S D aSoBoa one of the above
(1) oresg Bes SresSs Q) 6B srad

In which Qutub Shahi Sultan court Addanki Gangadhara Kavi was in

(1) Ibr ahim-Quli-Qutubshah (2) Muhammad-Quli-QLl tubshah
(3) Muhammad-Qutubshah (4) Abdullah Qutubshah

esdéoé oS0 £ o eSS Syl QoerS BQ"?\’)Oé‘ Goad ?

(1) B0 - HO - HeHSA 5055 - ©HO - HebeSar

(@) S5 - DS (4) ey HHST

” . ?
f “Shiva Yoga Saram” a famous book of Kakan).;a age 7
g)ho ‘Q;?;;L‘E:;?OT ° (2) ]aya}g)asenani (3) Kolanu Ganapatideva (4) Baddenna

o Bosne S BodS ‘FBBIRTSS @ foi 5500065 DS ?

/(}1 3 B¢ (2) 2305V (B) ol HndA3HD  (4) 088
Tego®

What is Metaverse ?

(1) Video Game

(2) Piece of puzzle
(3) Virtual World for
(4 Low Connectivity
DersEy eol3 & ?
1) Hads I )
Q) oy, swb e (B0

~Oo
SgHe HogrRE® g%

people’s interaction

5 0g5)
S5y56 820

@) oo 53508

" HImA



85.

Match the following,.

i ates
(Freedom Fighters) (Native States)

(@)  Jayanarayan Vyas (i) Kashmir
(b) K. C. Reddy (i) Hyderabad
()  Premnath Bazaz (iiiy Mysore
(d) Ramananda Tirtha (iv) Jodhpur
5 808 TDD 23EHEHBW.

(g Sogsy RBrehren) (Sogrissnen)
(@)  ecHarorahHes g () 5o
() 8Aog ") doers
© Do wesd (i) Dorb
(d) orSwSods @g ¢ (iv) SB576
The correct answer is / 58 @008 HEFEEHED.

(@ () (¢ (d)
@ G G () (iv)
@ (v) @) @ (i)
B (@v) @) @) ()

(

(iv) (i) (i)

ii)

i

Identify the Asafjahi ruler who ceded Kadapa, Kurnool, Bellari and Anantapur to East

86.
Company.
(1) Nizam - ul - Mulk (2) Nizam - Ali - Khan
(3) Sikander - Jha (4) Afzal - ud - daula
Sty RoGAST LoD KD, 6, ww)8 $0a5 ©SoesHIBoS NS esa’)i)v?y P N
(1) Qeo - & - Snd), Nero - @D - g
B) H%oiE - s /(Z wHenFer
87. Who was the First Indian to have dissected a dead body in modern time ?
(1) U.N. Brahmachari (2) U.N.Dutt
(3 KN.Das (4) Madusudan Gupta
e3¢0 sPe06° Fael)) 5R5enSoel (Dissected) 30LBEE] HoBAHS S5 ?
(1) o, IS, WSad (2) a5, V. S
};ﬁ 8. 8. ol @) SSRGS tH
88. Where did the ‘Mahboob-Shahi Mills’ founded in 1884 located ?
(1) Hyderabad (2) Gulbarga (3) Nanded (4) Warangal
1884 & BoSe50S° FLoDS ‘Sasirexrd aplr AY )¢ SoSEEI ot ?
@ woows 2) toenoe (B) ~roB& (4) SSotS
s4563.C/ T 1 il




g9, Using this notation
A@Bmeans A~ B

A©SB means A +B

A®B means A - B

A©®B means A x B

A® B means BA
G7D306®9IO3)® -
&8 500 &HBrAod)
A@B o3 A+B

ASB o3 A +B

A®B ®0é3 A—B

A©B ®oé3 AXB

A D B esoé3 BA

(57B3606®993)® 2=
1 194 @ 104 G 104

(@) 481

& 90. Who discovered rock art sites at Bhimbetka ?

(1) A.CL. Carllt.aye (2) V.S. Wakankar
(3) H.D.Sankalia (4) M.LK.Murthy
DDHBEr) SN B DF Foiwod SOFHO 5t ?
/(,lf) . D.DS. 528 (Carlleye) 2) . R Fsod
B) IH. &. HosP A (4) oSo. S . 8. S
91. “Communal harmony could not be permanently established in our country so long as
highly distorted versions of history were taught in her schools and colleges, through  the history
text books.” Who among the following said this?

(1)  Ravindranath Tagore (2) Mahatma Gandhi

(3) Dr. Sarvepalli Radhakrishnan (4) Jawaharlal Nehru
ggreey D000k §rEres’ 3380000 $0g FoGanen E'GoDBoBI0L FIBorT o8 FH6FFA)

FBosTan”. & TargRaw & Sod T°05° 23067

(1)  6Dogrd orird 2) o mod

Bf e 0800 RO (@) 2556 oS g

iti i - and these are related in . _ .

92, ;.‘:gnetr;ﬁtt}t‘zs;g}ftgo]fv e n ;gggealsititzile alternative to replace '?’ss (::fo‘;zgi) (lzil)lr;eareg;]()tgya.md ?" are
oSS+ & DTS w8 HENT Bowotriy S90S Goc Sgoesgimen (entities) @GBS
S0y 1 & HEIDS 2.8 SR0eBZEN (entity) @8 7 S0, e “60300@"&)& e s T -
s Kol SIPED 258 Baos. &

FLAME : UOZNV :: BRING :? .
; 3)  YIRN
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93.

. is son of B.
M is son of A, R is daughter of V, S is sister of M and R. B is married to S and Kis M
only brother of S and R. L is daughter of R, Then L is related to A as t
(1)  Daughter-in-law (2) Daughter (3) Grand daughter 4) AunJ W
A Bog), HB#SE M, V Bot), 6573 R, M 58a$» R e 550 s.Bé:séG;)aimo A éeut
B Cﬁl)gb S0 K. S S8 R o bg_g RS M. R Bw), £X5°3 L. @t A ¢

No2dolSo

‘i §%en (2) Erehd @) ssmoe (A o [

94.  Which Velama Royal Family Women constructed the “ Nagasamudram Tank” ?
(1) Nagamallika (2) Nagaladevi (3) - Nagambika (4) Nagasree
SOSoores £HE02e8 FodS O Sodvd 'DITPSSNGE By’ ABood ?
(1)  ~Sds /Z) Jetierd) (3) ~emrods (4) 3
95. Ghughua Fossil Park is located in
(1) Tamil Nadu (2) Rajasthan (3) Madhya Pradesh (4) Chhattisgarh
trbare Beres 06, & SoFN0ESH.
(1) SFarcd };a oeBS (3) Soesg HB%E 4) S8&
/
96. The Farman of foundin g the Osmania University was issued by Osman - Ali - Khan on
(1) 24th April, 1917 (2) 26 April, 1917
(3) 29t August, 1917 (4) 17t Sep, 1918
0 DAINTEGLI0LRY APORT° &S wdHgeS Do 238 Fdd B
1) 24 fb’éé-, 1917 ) 26 c'b?eef, 1917
(3) 29 estig, 1917 (4) 1733026, 1918
97.  Which of the following statements is not correct about Arthasastra ?
(1) It opens with the auspicious symbol of ‘om’.
(2) A pandit of Tanjore district handed over manuscript of Arthasastra to R. Shamasastry,
librarian of Mysore Government oriental library in 1905.
(3) It does not contain any reference to Mauryas, their empire, Chandragupta or Pataliputra.
(4) It consists of 16 books (Adhikaranas).
eggavga’m&’)éa 50220602 68 §08 0e3S5° DO HO @OVHENS0E (HH IS0 (statement) se¢% ?
1) =28 JDE001S 'a,sa'mg;es‘ Pl AN LA A)
(2) 1905 .‘(aoa’aé.bdoé‘ o6 22HeEsg £.80050808 S065° 5&3@.‘6& R. a°§a’nr‘s°“3§ Soerad
R[OS
28 DoSehed wfErgo Bk, T HBHN oSERD.
SFEge HB0D 57, &8 AeByresgo HBD 5°)), 50BtHiHed SrBashy eAHEED tHO0D 5
D) 30 DINoSS .
(4) =0 16 8Bt (books) Dzfelodcod.
. ™l
34563-C/ ET 20 l||||||||.|||1|



- 8. Th:g Venn diagram represents
= Drivers of motor vehicleg
r

Drivers of 3 wheelers, drj
Drivers of the school ;al?"el‘s of 4 wheelers,

Sgeeed eSEre Sy SABawes,

3 S5°0 TOTTOKD KAS
NI, 4 S5re) ardearerss SEDTB,

2078 TGS BEDT. DOD 4D 35 Detser

|66 & e
i @ @) o . "

-
~ 99, Which one of the following statement is not correct regarding Delhi
(1) A]auddu.‘l Khilji separated religion from politi-::f;g

(2 N.Iohd. Bin Tughlaq imposed a ban on ‘Sati’ cor;aemning it as an
(3) F.m_:zshah Tughlaq imposed ‘Jizya’ even on Brahmans.

(4) Sikinder Lodi exempted the collection of Jizya on Hindus.

(‘,‘.:‘f‘) K0gPR0ed HorofHoDSosSELD & §od ToE3S° DO $B @0oNSENH0e3 oeRgE0 (ot

oreadofre Sood S weradsS HE DEBIS..
2) ‘B8 ToHPS STEHD Podyr S5y HS i TRy DA2BoBX.
(B) E°S X (S ste0S® 2305 HIYS GrIPFEDOP & Sgeen BaHo 2
@) RBoE S%G 5°006° SrothiHep B BPB> WHFo® 0B,

(4)

Sultanate 7

unfair practice.

atement) S°¢ 7

B8Acd.

- 100. What is the vaccine given usually to children in the age group of 5t0 157
hg 1 (1) Malaria (2) Measles-Rubella
X (3) Intravenous Polio Vaccine (4) Diphtheria
B Sr0D HOIS Hoesy BAHB YD Argrdesct Ry RS DO ?
A 1) SoBecs 2) RS- ErBY
i3 /Z) HotrDSS SO T58YS (4) &Hoose

101. Identify the Shankarachrya’s four headquarters of monasteries.
aka and Puri

| (1) Kanchi, Sringeri, Dwaraka a B

?- (2) Puri, Badrinarayana, Kanchi and Sringeri

| (3) Puri, Kanchi, Sringeri and Dwaraka ik

(4) Dwaraka, Badrinarayana, Sringeri, and Purl

-‘.fo)gcvz:pdar;g :?);3 eocsed ya‘enrb Saore DS 80B3800%0 (HBocHdw.
> o

(1)  Sod, §)ofB, Tgds S0 EG e

(2) %8, exBrrTeaEs, ol $005 #0830

(B) %8, Sod, £yoAb SB0k0 TrSEE

| i Erg 58, ex@mOmaises, Hyrio S0 558

34563-C 2
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102, N
o avne ’ ; .
Neet Kaur, the player in recent news ig associated with

(1) Football (2) Hockey (3) Wrestling (4) Tennis
TS0 sger® 506 5598 6 5 Arrsroed 7
M) HS s (2 58 @) ©% )ﬁ 8RR
_\_\—x-_________
103. Who appoints the Supreme Court judges ?
(1)  Prime Minister (2)  Attorney General
(3)  Vice President (4) President

Rodo 8% SrgohBardheds DaHoBE dues ?

1) Do=s Sod
B) & OrR9DB

) eotd) e58S

(4) ogyoe

104. Select the one of the alternatives, which is different from the other three alternatives.
TS 05T K00, 22588 DOHOS Sarwoes o Hforr éroZertyn ol T DSNSHE.
(1) DHLP (2 EIMQ &) LPTX (4) AEIO
105. Which of the following has 5 time zones ?
(1) Canada (2) Sweden 3) India (4) China
& (Bod 8BS B8 5 95ah Hoeren o ?
1) 33 (2 NgEs }Qj AL IAT RN @) B
106. Smallpox is caused by :
(1)  Ebola virus (2) Variola virus
(3) Herpes Simplex virus (4) Influenza virus
B0BD & Fod DED 3 3KV
(}/f deS'er DD (2) $HoLe oS
(3) :J”a‘):) bo’gé’) Qd:) (4) ‘259_)30&5" DO
107. The North Atlantic Treaty Organization (NATO) is an alliance of countries from
(1) Europe and North America (2) Europe
(3) Europe and South America (4) Baltic States
S8 0grotlS 863 ea3ARS (ooes®) &° Sahgeor__ Baven BT 0w,
) 28, s oIdse (2 =8
7 (B) 8%, 5§ ©3bse (4) z°@8 Bwen
34563-C/ ET 2 LT




R -

_ T

ey (R NN S P

alit ;
108. Equali ?zbefore law is part of
(1)  Right to Freedom,

(3) Rightto Equality (2) Right against Exploitati(!n '
SE ééjﬁéé‘&) ADeS® erio ? (4) Rightto Constitutional Remedies
B "R (2)  DesSo DEGoB TN
(B) RDIPSSy oty sabRo e £
b /43 oresegolf HOSEERD 5K
109. India is a Sovereign Socialist country
——  country.
(1)  Secular ) (2) Democratic () Republic (4) All the above
errSebBdo e D8O Asogawes B
m &% (2) ey (3) 6995 HESN

110. Buddhavanam, a Buddhist heritage theme park, was inaugura ted recently at __——

(1) Hyderabad (2) Bhuvanagiri
(3) Nagarjunakonda (4) Sarangapur
20550 93 Y TEISF HS0 JtyiS s FrodoTdd ?
eesorerd 2) 2HS5508
(3) g Sod 4) ABorrrd
111. Which state of India first implemented the Right to Information Act (RTI) ?
(1) Tamil Nadu (2) Telangana (3) Madhya Pradesh (4) Bihar
rEBBIANS'D D TR DHANEHT DAFTFE D), P 0 B2l ?
(3) S5 @38 @) H5

(1) SV /2) Boorre

112. Who received 57th Jnanpith Award ?
1) Nilmani Phookan Jr
(3) Damodar Mauzo
575 gD 2B, BDD (9a) ID

(1) Doy s gub

(2)
(4)

)

(@) oarabaTE @

as the First Industrial Po
5¢8 e0F°W

(2) 1965

113. Whenw
eotses Biods® BoogAN

23

34563-C / ET

Akkitham Achuthan Namboothiri
Amitav Ghosh

& SHT) D ?

esébaﬁ) OIS Hoerdd

OCO O

licy of India launched ?
& DEriSo AP FBoDoSedSa ?

1981

(3) 1948 }’)

L]



114, boal d for
Danish Siddiqui, the Pulitzer Prize winner for feature photOSraphy' WarKe

inhua
(1) _ AFP (2) Reuters (3) TASS 54) v ;;l%r.‘i‘mvda-
(SN c'bégé 3 OGS @af (fares eans Hses® ady ;{)o.géb ®

\be.b. (2) oranesby (3) 3.9.080.0. (4) S HOI

115, Identify the capi i
pital city of Rastrakutas
(1) Badami (2) Vengi (3) Pattadakal (4) Manyakheta
TR £mener oresped DA ?
1) erody 2 Soh (3) DeyEsd (4) SogBeo
116.

Select the suitable alternative to replace ‘?’ which completes the following ser ies.
508 Fe3D Kyrd BabrdB SOES DYYsRY HSYED 7' s 2B Baod.
2,4,7,12,19, 30,?

(1 43 2 39 @) 35 4 45

P

117. Which Commission was appointed by the British Government to enquire in to India
expenditure ?

(1) Welby Commission (2) Andrews Commission
(3) Elliot Commission (4) Strachy Commission
RoGal® END DR HEHASIBE D LRSS DoYEN FoHEES 238008 ?
1) 38 RS ( BoEro SAS

(B) DAHE LDRS (@) RO LRS

118. The environment clearance granted by the Union Ministry of Environment is for year
Sof§ DoegSGEs HroBeQ o [ HUgSGEs woSoeken _ Sodyore Benereend® eotno!

1) 10 @ 8 @ 5 /(4») 3

7

119. Which of the following is an example of extrusive Igneous rock ?

(1) Coal (2) Graphite (38) Fossils (4) Basalt
&3 $00 T836° il wh) Both GTESER 6 ?
1) & 2 oTps /) Boresioen (CONENS )

120. Pointing to a photograph covered with a curtain a man said to his brother-in-law that “she
mother of my father’s daughter”. Then the person in the photograph is related to brother-in-law
that man as |
(1) Mother-inlaw (2) Daughter-in-law (3) ﬁlster 4)  Mother
2.8 BES® 2y GoDS DY HBD SEHYP & DEODD TV 25 & ger woms. “eFy o T
L3oehHrtHH 58" & D HOBNS® &y S8’ &5 HEP &S 8 tfe Soxotso

’/Qé( o 2) &%en (?) %8 /&) &8

34563-C/ ET 2 T




B R T

121. ship was dec
(0] Teat
1) INS Vikrant mImSSmnEd at Naval Dock}’ard in Mumbeai.
(3) INS Rainbow (2) INS Parakram
S20083 3565 =8 (4) INs ;
O e 0 0 st g
o 87

(3

) 255, Bans & Q) 2535, 50785

(@) 2.85.5. 08

e

._ 122. Identify the States, whose inte

gration wi . ) .
(1)  Bhopal, Travancore, Bikaneer ith Indian union became a serious problcm..
(2) Hyderabad, Junagadh, Kashmir

3) Hyderab
'Egc))édﬁg O':i)s";:;)glgig;dh’ Nawanagar (4) Kashmir, Hyderabad, Mysore
OSDoEr I8 Skudgess KYRoDS Sorswess o,

/ ) ?6 SPE BrSRSEs, s 2 oo, wois, SR
(3) %3_"550"83"5, &3’3"5&; N ANET 1) (4) 5“'%&6, 2poeers, @m,_, &

i 123. In the below series select the suitable number and letter from the alternatives to replace the two

blank spaces.
808 F636° o Bochy ad Jorers 85§ BaHrs BSOS eod, wgborisy DS Mok SIPELE.
Z,X,22,20,R,P,14,12,], ___,

(1) HF @ 86 o Hs @) 8&F
- 124. On which day Lok Sabha accepted the separate Telangana State Bill ?

(1) 16th February, 2014 (2) 18thMarch, 2014

(3) 18th February, 2014 (4) 20th February, 2014

$8g¢ Beorres ToRY DY 58525 & 8% 0fiE80Dod ?

1) 16 deS6, 2014 (2) 185Gy 2014

() 18 S0, 2014 /ma’ 20 H56, 2014

125, The recently restored 200-year-old heritage building in Osmania University College for women

was originallya ___— -
(1 Bgiltrilsh Residency (2) Nizam’s guest house
) ] (4) Royal polo grounds

(3) Military headquarters :
"'é"" simase HITEOT I gt DIVFBIAS 200 © BoSeyorermTe ods
(RoddS avod) w8 aéoda.

igi IIY)f
a0 2SS0, eded (origind
. ) e @B (o

£ 3920 A
PR N e
&

25 Himmm
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126, Which of the fol of AKDAT *

lowing statements is not correct about reign

Eg Eﬂ?a Tf)darmal, a anlput noble became Akbar’s revenue mlf:,il::_r. "
aja Birbal, a Brahmin rose to high position and became Diwe der of the military forces.
3) Raja Mansingh, brother-in-law of Akbar was made the commander’ 1582 by Akbar,
(4) Promoulgation of a new religious pllilosop;\y called the Dm_[_lllahl "
G 57emD8 Howrodod & 80 TogS0eest HA HB@owod 57 ?
S2aG.

(1) oreagshetress @ond SK8E5S ©5 B, 33 508 oHado
S e DS 55 goom wds esipen wpEsge 05 M AOHDOSTOER

(3) )6 &8 eri5008 wans $rShoks, QARG ESEHAM DADHOB:

(4) 1582 &° 'BS--merdy (Din-I-llahi)’ a8y et Soe°) PENS HEE30B.

127. Where were “Roman Coins” found in Telangana ?
(1)  Nustulapur (2) Medak (3) Nalgonda 2 it
Boomreas® 808 Srdien” &85 $B%0 B ?
(1) Soperiyb 2) s (3) NFoc W weews

128. In a certain code, table is ball, ball is glass, glass is chair, chair is computer, computer is pencil

pencil is book. Then according to this code language the instrument to draw figures is

(1) Pencil (2) Table (3) Computer (4) Book

2.8 % erRes®, 290 ©0€] 2308, 2208 wos o, @o @l £H8y, 8y wodl 500"&5"5‘30& Soyyrgeab ¢
DANS, DS @083 %o, & 5 2% 8se8o Fspen S dceSo.

)1) NS (2) 20 (B)  Soyrgesd 4) D%
129. Chandragupta Il is the son of
(1) Samudragupta and Dattadevi . (2) . Samudragupta and Kumaradevi
(3)  Samudragupta and Dhruvadevi (4) Samudragupta and Prabhavatidevi
B0t cSoStHpcdd DB EHAPBE :
(1)  SEGHENE S0 Sedd (W SENEEHHE 5805 HETFEE
(B)  RINEDHHE BB TR (4)  RBnGHNED 5808w Gerseda

130. Kartarpur Sahib corridor connects Gurudwara Darbar Sahib in Pakistan with i Ind
(1) Dera Baba Nanak shrine in Gurdaspur (2)  Golden temple in Amritsa-r—————

(3) Nankana Sahib (4) Wagah

£66%°6 S SBED YRS’ @) HOTIT SONE eSS g St &)
Zen))ehoohd.

(1) Boe e 3955 Soobbo, thgrrarb (/W 8BS BopéS, OSNESE

(B) S s (4) oo

: 6 I
34563-C/ ET g HOEREaOaI



o Nikhat Jareen won 5 Goldmeq

. (1) Antalya al at the 2022 IBs Women’s World Boxing championship In
3 S 2368 Kol (2 Tokyo (3) Poland 4) Turkey
u D &3 Yo er8y0f To1AHAS 2027 Benchgy o
1) oére)
! ¥ /gz ) 3 @) ook @) by

'132. Which of the following mountains are formed dye to stress ?

(1) Himalayas (@) Black forest (3) Vosges @ Mt Cotopaxi
8 ce3e5®, 4
; & 8o BBE& Serssn oS Y HEgSBen DY ? .
- 3 e‘)
¢ )11 arRI0s ey (2) oE a5 @ 35 @) 5305 & A
E‘ 133. Identify the wrong pair.
b (Newspaper) (Persons)
(1) ~Amrit Bazar Patrika -  Motilal Ghosh
. (2) Bengalee - Surendranath Benerjee
: (3) Yugantar - Arabindo Ghosh
| (4) Sandhya - Brahmabandhav Upadhyay
| 30 seSenSoed a8 HBoS0A.
(5@5es) (Sgspe0)
(1) oS ered HBE - 8o PR
@) Bomd - Xk B3
3 oswrroesh N P AR
(4)  Socss - pgEels aerged
134, Ukai dam is situated across which of the following rivers ?.
(1) Tapi (2) Narmada (3) Kaveri (4) Chambal
&: 808 °8365° esse0n 8EY D 568 egdorr DBoeSEIB.
1 b @) S48 P @) Soss

” at Vemulawada ?
e #Bhimeshwara Temple” at ;
5 gho C;:ds:: Cz:ed o (2)  Arikesari-I
(3) Yuddhgamalla-l (4) Yuddhamalla-II

“ SRy DS Do ?
oo §3 (2) Bwee 0636

0 wgy (4] 3ot aogoencs
B)  Rwcses afgogoe }J

7
34563-c/ T 2
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136.  Which one of the following pairs is not correctly matched ?

(Associations) (Reformers)
(1)  Atmiya Sabha - Raja Ram Mohan Roy

(2) Dharma Sabha = Prasanna Kumar Tagore
(8)  Tatvabodhini Sabha - Devendranath Tagore
(4) Goodwill Fraternity - Keshava Chandrasen

&3 §08 s7e3e5° DO 5O 23¢8 5o¢s) ?

(Soev) (S0, tgen)
(1) esfHaH Sgf F Oees® ooy IS oeodd
(2) e s - R ©5E oo
) e$e8geSRN e - BIogarE orrird
(4) HEDS pe8ed - 345 S0gdhS

137. Which one of the pairs is not correctly matched ?

(Artist) (Dance Form)
(1)  Kunchu Kurup - Kathakali
2)  Rukmini Devi - Bharatanatyam
(3)  Kelucharan Mahapatra- Manipuri
(4) Birju Maharaj - Kathak
50 55enDH0e3 23¢5 A ?
(Sresegee g ) (Rreagssm)
(1) HodH HEPD - 56559
(2) {3 3D - ARSI
) SencSS Sosstayes - S0e3HB
/(4) D SossoeS - &e58

138. In which year does ‘Ramji Gond’ Revolted against Nizam of Hyderabad ?

002808 @ Sol [€5° TPEToerd Darotd> BEABLore Scbrberea Bt ?

)}7 1854 (2) 1855 (3) 1860 (4) 1862
/s
139. leads in sugar exports in the world.
(1) India (2) Brazil (3) Egypt (4) Thailand
55,8 D HHoes eoffrrad Bdo
gsd (@) omeg (4)  Fowerd

/(vf 55 @)
140.'/ In a row n number of boys are sitting facing north. A b9y X is.twenty second from the left a
another boy Y is thirty three from the right. A boy Z is third to right of X and sixth to the Jeft o

in that row. Then n= -
2.8 SthHides® &e§lo Sy e n 800 erendd ErENTH. X @] erencd aczea)g:@ S0 adéaod
Qm‘()oe?‘ Y e93 23eentdy £HE Sod 55.1:;_)3.{;11“(:5&‘3 Qw‘\’)oé'ﬁ &I, Z &3 arencsy X & HEIHS Sl

50K, Y 8 DESIJS e FriSodTWr ey, @ n=

(1) 65 2) 64 & 62

o

34563-C/ET
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e

m‘mlfif)’ the duration of the months for the ‘Kharif Cropping Season in India’

141- ) October - March @  April
ne - Septemb pril - June
¢ Juar amgaé) 5‘2 (4) None of the above
05 33560’5 o (Season) esoz cy‘“‘583'5@13((1ur-‘.'ltiu‘:!m) tHBocSols
" @.,sa: i ﬁg () DHS -8
(3 BoNgeR @) I>sH
;;:.-.Idmti fy the Stretch for t.Nhich the National Waterway 1 of India (NW 1) was setp
(1) Allahabad - H;ldla stretch (2) Sadiya - Dhubri stretch
(3) Kottapuram - ollam stretch (4) None of the above 4 &0

? 1 30D TES° &6 B0 130 o 1 (IGSSE sk 3 1 w HodaET) DYOOD &
(1) word - SOl D56 (stretch)  (2) Bk - HY DJVE? (stretch)

. (3) 5ED0o - Tgro DRBea (stretch) ) pssH
443, Gandhiji wils not associated with one of the following news papers .
(1) Navajeevan (2) Satyagrahi (3) Harijan (4) Young hrictia
& 800 VS° roe8s Somogin S HBY
/(,}’) 3552858 (2) Revgder B) &S (4) $Hoh [o&ose
144. What is the old name of Secunderabad ?
(1) Mohalla (2) Lashkar (3) Patnam (4) Dewdi
Sogrerd cng), Joes A ?
}Jd Soseere (2) olb (3) Seyo (4) BS&

145. Ina certain code language if GAME =30, RAT =42, then GREAT will be equal to
2,8 €5 erie® GAME =30, RAT =42 e9ond, GREAT £ 385580 eoalhgh.

(1) 46 (2 64 /e) 59 (4) 56

6. Which one of the statements is not correct about revolutionaries of Bengal ?
(1)  The first swadeshi dacoity to raise funds was organized in Chittagong in 1906.
(2) A bomb manufacturing centre was setup at Maniktala in Calcutta.
(3) Maniktala bomb conspiracy case accused Aurobindo Ghosh and his brother Barindra

Kumar Ghosh were arrested.
(4) CR.Das was defense counsel for Aurobindo Ghosh.
BormeS D5Ssecherts $oo0BoDBoBSEL & §0B SBE” D0 B aNS H55SH0 soes ?

S0 HESead Incsed $3B8 E'é 1906 Derohs’® dEroSEod.
§&)§§°ﬁ% ‘ Jyoe35 e’ g,oéoese 23°02)) $as0 éog":)a_ bo‘::)gn BafHess 238808
£

St ese oty B SODOE BrR MO SID DD 60gs 6556 BrGien w3

VORI,
) 06006 ars B, 32 erarb . esb. TR

s

—

2
3

—
—

\
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IR B e A L D e '
1y,

; e involved

C. any involve .

/;{) HDF] 82 merg rof abank and 4 non-banking finance company SRR
@) D nd HDFC bank

3 : ‘1;[. and HDfe bank
! and IC|y bank

Indlabulls and SBJ

; ® 2y Aonest S0 a9

QR Bot) B Botf Bodey
SR ° %

VD, &IEA G 250t

Boda W) & S D5,

W g

48, -
From the given alternativeg

o6 adys

) 49

s select the one which is different from the other three alternatives
PO 2.8 200 Samot iy odogy o o DAY yshd,

@ 81 () 25 (4) 64

o ——

149. Which Qutub Shahi Genera] donated ‘Sreekurmam'’ village to Lord Sreekurmanatha ?
;(1) Amit Kumar (2)  Ashwa Rao (3) Manikchand  (4) Raman Rao
S0’ 6%, Sertons woatrag 3o TrimR) TSorT AQYS DB e DTOHB 52
(D) oS H5r6

2) oo ) Sr5S0B 4) oS o

place where famous Jain scholar “Rishbanatha” lived after escaping the tortw
Eastern Chalukyan King Raja Raja Narendra in

Telangana.
(1) Warangal (2) Hanumakonda (3) Patancheru (4) Kotilingala
ey g ooBS T20°2580 2o LINEEGH) Bﬁﬁm@g‘:‘_pé 85 Dodedhdy Bworm
RRORD Ry hfotsod. :
(1) SBoties

) v /37 SRBEHH (1) S8Dome

151. Where is the International Court of Justice located ?

(1) New Yorkcity (2) Hague (3) Geneva (4) Hyderabad
08T Ea FHODHFR0 ¢S o6 ?
(1) Rrgoirg 28 () ixf 9! =R @) ooers
. Which of the following is the cold desert of India ?
192 (1) Thar Desert (2) Ladakh Desert
(3) Rann of Kutch Desert (4) Jaisalmer Desert
2688305 280 500 & 808 3005° D6 ?
(1') &6 &0 )}j cd A0

@) vRed 55 50 4) B0G6 oo

% —
34563-C/ ET T
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._\.;hich Of'the fOHOng iS i
453 ) Guindy Nationa] Parlll the Islang of Andaman & Nicobar ?
(3) Mahﬂi;_la Gandhj Marine Natio (2) Kz:zi;anga National Park
& 308 5°6365° D6 ©0ES S S98cis 31;1 Park (4)  Bison National Park
9 (Park) (2) Badorr arBAH eng 58552 (

7y ODPETY TPod 23S

Park)

cation in India ?

é- which one of the following statemen
the knowledge of

The 1813 Charter Act ]
modern sciences and im

ts is not correct about growth of English Edu

ocated Rs 1,00,000 (o .
I, ne lakh) towards promoting
Provement of literature, ) P

2 Babington Macaulay issued his famous minute on English Education on

3) The famous Woods Dj .
® Education in India, 1spatch of 1854 was another important step 10

In 1864 Hunt ; _ g
(4) 1ndia. er Committee wag appointed to review the growth of Higher Education in

858808 esoff DEFH BoroRoDHSSEL &5 S0 HS5S5SEneE® DO K0 @I S° 7

(1) ;iﬁ%iﬁ%?js Of Sraragien e agsen S8k erarPP SEH

) 2DolfS o5°8 eoff DR SIS B 5B 2, 1835 & HEB0B0.

() 1854 o8 &&) HgSn (Woods Dispatch) groesdfod® o DSy @DHRS Roeoded &S
e,
&)e8 DY D Deorr EBAeHeH QS $68DousRS 1864 &° Groerb E63D Domyen BoHESD

9) 238008.

/
/

/155. Who is the first woman combat pilot in Indian Army ?
(1) Captain Abhilasha Barak (2) Captain Shashikala
(3) Captain Vinodini Sharma (4) Captain Vir Bala
el :ng?\')goéﬁ Baag.’:ancﬁeﬁ So2yoge Doeey (combat) e S ?

(1) S edery wos 25 435¢
() S 285BI Y @) 8Sdberer

ond February 1835.
the development of

5%, Which one of the following is not correctly matche M Jural = Capit
() Muchiri - Port of Chera Kingdom ) @ Apital of Pandya Kingdom
) Korkai Capital of Chera Kingdom (4)  Uraiyur - Capital of early Cholas
% 308  AguenSots 238 7 1
= O i vy — o
8 - &3¢ o2 (1) o808 5 - &0 Sgtye -

(3) gﬁggcm _ 36 Upaas;{)).) U"&BED"D o

. T

g, ET



. . ! olt as “Robin-hood-like” event ?
SRS desaitbid Sarval FRpICS 2ot (2) Irvin & Munroe

(1) Barbara & Thomas Metcalf (4) Sherwani & Yazdani

(3) Richards & Cohel:m;& oS- {6 SEE ABHHETPENT SG0DS 5781 DB ?
asﬂ

BOPRON DY BB ”
e oo & Gl 3o5sH @) =O8S & HF R
% a:;;% & &S (4) woeged & ader
i .# was title of Satavahana King
158. a;jaks;:lt:;ii:iﬂathl \! — B i
23; Gautamiputra Satakarni (4) Yagna sree satakarni

“ SRETDHHB” @3 DB EOS FETER orer
(1) S S (2) Bosd HSHETD

(B) eSS TS5 /ﬂ) oS3 TEEY

159. A1, As, Az, As, As, As, A7 and As are sitting around a circular table facing the direction opposite to
that of the Centre. As is fourth to the left of A2 and second to the right of Ae. A1 is .th"'d to the left
of A3, who is not an immediate neighbour of As. A7 is second to the left of A1. A4 is second to the

right of As. The person fifth to the left of Ag is
A1 Az A3, A4, As, Ag, A7 58050 Ag ed 28 tHoED 250 e Sogotd SgBTE HFH eDSwgor

SERTRD. Az O JEDFDE . TYS FRoS® A ey, SoB05H HAJDS BotES ISt Ag
BIPE. A3 £ IESHJDD BorES FoSoes® A1 eyt HoBA5H As & HEB &) Arorhared Az seh.
A1l & IERFTHS otk FHeS® A7 s, As © HA& S Bokd JHoS® Ay avn. As ©
DEDJLDS WSS JSos® ey Sg8

(1) A /(2) A2 @) As ) As

160. What is not a characteristic of Indian Economy ?
(I) Low per capita income (2) Excessive dependence on Agriculture
(3) High rate of population growth  (4) High per capita income
&2 808 TS® geies 88 5gDH GIng), ©Fes0 7B B ?
(1) SLD S5 esrahHo (2) DgAJcoHo P DEY),STT esprEHeseso
)3) 27T DD wHZo &otitio (4) @OE Hedd esmrahHo

161. Identify the Buddhist work which referred about “ASMAKA” Janapada ?

(1) Vinaya Pitaka (2) Sutta Pitaka

(3) AbhiDhamma Pitaka (4) Anguttara Nikaya

" RS (ASMAKA)” 23555650 15808 HID0DS % 655 DA ?
DI H5E (2) ®oes Hes

(B) oDEHY HisE (4) eorfHess DLaH

34563-C / ET 32 TR




Identif}’ the wrop

162: (Teachers) 8 Pair,
Purana Kagg, a (Se
t
2) Paklfda KatYaYana - S‘-‘ep}:itlsmt follow different paths)
sl Gosala ) Nuvading
(4) Aita Kesakampy, - jivikas

%65°0 (Wrong) eseg B80Sy, Charvai

(oHen)
(1) DTE Sy o (PR S, 05000805 Bfen)
/@ DOHE sPergafyg Rodrocs, TRhen
/(3) S50 5% L SNmse,
(4) B S5LNS VDK

b Q‘U‘S&{)m
163, Three different views of 5 cube

. avi a riven below.
If this cube is unfoldeq, looks likeng the labels A, B, ¢, D, E, F on its faces are g!

’ " = ) é)g » o) ;)@,6& e;S'o )
ERCAER TR RSN DEEBS wn aaénza;:cgis g:m B, S

7 9 &

8 A B| A|D Fofr
B | A B F -

C c E D B

D F F D E C A

/(1 ) ) 3) 4)

64. Identify the Velama ruler who has shiftec(lzt)he cBapti}tlal If;ty fiom a Amanagallu to Rachakonda.
1 aka-I etha Nayaka
8 ilgg ag;: Prjzgr’aka-l (4) Kumara Singama Nayaka
’esaﬁ:.‘-fade»}j.‘&oé oSS TPREPAN HS5DoDS JTeerdd HBosed.
N aHEED
(1) S005e8 Dotk TaHEE 2 ?zﬂ j’bo@ s
B)  BcseS evssee TroDHEE P

; i (2)  Principal Advisor to Prime Minister
(1)  Economic Affairs Secretary (4) NITI Aayog CEO

(3)  Education Secretary S 3T,
ga é 9 93 :)ngjé o B8 SR Bes
S iy —— @ &3 008 S eSSy
/m w88 Sgsseome SEE0 @) 58 s CEO
3

3 Qi

3¢/



e ————— 3

. P . eﬂh y and J?‘

i i ' itable altern @
given to the right of :: . Select a suita i ks tbsafioss, fenililie] Tt
BHSS i & SESFHS o difsor Bowowry SHI 9% THILL e
S08050 1 & HAEIDHS &8 S5R0e83550 (entity) 28 ? o). @ D

DS S0l DEREW a8 SaHods.

CIL:BIG:: DAY :? N PAY
(1) BAT (2) CAT @ BAl P
ivilization ?
167. Which one of the following is the largest site of Indus vallley‘ (Harappa():)lvﬂ}z:[ ilg:ngan
' g Dholavira @
I -Daro (2) Harappa (3) =0
ggﬁgéalgr:?aéeﬁ(@tﬁag)@ BSo2080D & (Bod TES® Q‘édaﬁn é'.)r'a"’oéaanc; o
SoarosSTs® (2) SO 3) &eodd (4) s"O=0
/r) T
;;8. Which of the following is the largest plateau in India ?
(1) Malwa plateau (2) Vindhyachal plateau
(3) Deccan plateau (4) Chota Nagpur plateau
&5 §08 TS BB’ 03 Y HEZrL 6 ?
(1)  drerg D6ErD 2)  DogriSe EZF
/3) E55) 50 DB (4) S hyrd HEBTD
169. The Luni river, which originates in the pushkar valley of the Aravalli range, ends in which amon
the foﬂowing ?
(1)  Asa tributary to Sabarmati (2) Rann of Kutch
(3) Arabian sea (4) Mt Abu
&I0°SQ Fe3 5D RY6 S°AHE® 23V0DS e 356 s §08 T°¢365° BES® SHoDy (ends) 238thHk ?
DHAS 556 (2) 6SesdH&S
B) ©3DAHS BEGS 4) 5306 wen

170. Select the suitable alternative to replace the blank space to complete the following series,
800 363D I8 BoHrd gr0d PR DB 2o’ 258 Sosod.

BI9N, E14P, , K7T, N5V

(1) HI0R 2) J10S 3) 19P /(4) . H9R
171. Elysee Palace s the official residence of the President of
(1) United Kingdom (2) Srilanka
(3) France (4) Singapore
QDD 3BH 030 3% igHic @Bt oo,
(1)  IBE 8ohisSy /2) Beof
©) & 4) Doty
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172. Select the g
the two set

ernat p
S of ny .'Ve to replace ' ; oo as to ke
BINDS ‘Y & Mberg given leftt[z) ?" in the following s

. in
5 is there
he analogy &

PSR
s ‘?’ mark avéoa K)a@)lﬁ ‘)

DQRER 12 OV L) o BN Bocky Rogrg HdBeSt (fe) AN
7:49156:;5:25 9%,

130..
4:16:64 +?

.30:35
(2) 3:9:12 5:30

3) 8:16:24 (4)
173. Which Qutyp Shah

iS .
(1)  Sultan Qui; Ut‘lllllfn Was murdered in the year 1543 CE by his own son J
()  Muhammag . ~ o W-Mulk

: Quli (2)  Ibrahim - Quli
£.4. 1543, &5° N & S . (4) Taneshah ’ > ?
(1) oS g s‘.aﬁ:sbf‘:a% B B30 OISO 0l BBE® Sresg BOHDET”
/9) aﬁa:;n;.a,ég s ~ S, @) 3280 -&H

4 edap

?
amsheed :

174. According to a Popular yiey

: famous
‘Kohinoor Diamopg’ found ? of scholars in which diamond mine does the World
(1) Kollur @ '

5013 SAAMODS Sty
(1) Eews

Samarlakota (3) Va] rakarur (4) Kolar

580" D Sarer KIS 880650 Sogreper B DFYo0 ?
@ desorste @) Sessrs /mr)’ &b

175. On which line does the date change by exactly one day when it is crossed ?
(1)  Equator (2)  Prime meridian
(4) Tropic of cancer

) BpS® BE ArosTy PANSOTT 28 BIAN ArCB008 ?

(3) International Date Line

/m essdngig Bay (2) I BEAHS
7 () wodgrdodh &% S (4) 88,8 B

t have any meaning) to be filled in the blank space in the follow;j ies
17e. Qggggisgnfg’,g“m‘;‘;’m as)é BaSi0nS 560 (o SoliER60 Btk olowing series is
o ~ P
A,CD,GHI, ___, UVWXY, EFGHIJ

LMNO (2) KLMN (3) NOPQ 4 MNOPp

: A?
3 s ‘o India launched the MGNREG
177. Which Prime Mm;sl’:ier o (2) Jawaharlal Nehry
(1) Rajeev Gan

i (4) Deve Gowda
D). 23.0)R.&90.88.83.0): T

2) B>dderd g

o8 rofd @), dams
3 N
4563-C / ET

ST I L e




N
178. Let A=B#C=D<E<F. Which of the following is correct ?

?
A=B# C=D < E < F esoomo. &a BoB TOS® DB Neso

3) A>C=D=>8B D>B=¢.A<
g) A>C (2 DB % Q

. ve b lOW 15
1; 9 [[IL' nu I‘\lPL"I l'f tr i.,lLS ll € can b(. 1C Ll‘ltlf CI {IOIII t}- e I1g1-lle g ven =+
1 1an 1 |t 1 > 1 Y e 'y i

\\

-\\ \ \. N\

LV
\VAN

v

);, 13 (2 16 @) 17 (4) 20

\,
e

s i erei Power j
180. Identify the Inscription of Kakatiyas which describes the declaration of Sov gn in th,
year 1163 CE by Rudradeva.

(1) Anumakonda Thousand Temple Pillar epigraph

(2) Bayyam Tank epigraph

(3) Warangal fort epigraph

(4) Srisailam epigraph . — s s
£.4 1163 S Do|| D8 BodS s*EBAO DHEBPE D FHSo orgoe T Q3 0 8
SHaHIaherdod.

(1) e 5508 5&)35’;02.5"&! H& 7080
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181. Which one of the language-culture groups represent the oldest speech family of India ?
(1) Aryan (2) Dravidian (3) Austric (4) Sino-Tibeten
ZESBH0eST ODES KHyotigen St8ENB50E B Hoxyyd I DB JeHSZSO ?

(1) es558S 2) @SDEAHS (3) w9298 /64) DS-3B S
182. Which among the following is India’s deepest landlocked and protected port ?
(1) Chennai (2) Kandla (3) Paradeep (4) Vishakhapatnam
€3 808 T°3S5° BB D STBS 2SS e8500D OO SoBcin BJSIDS £.¢53H DA ?
/,1-) 33y (2) seope (B3) HEAS (4)  DaBenSw
/
183. Where is Sardar Vallabhbhai Patel National Police Academy located ?
(1) Mussoorie (2) Nagpur (3) Hyderabad (4) Chandigarh
D6 DezsEraw DS DndeS VHD eosvE D I & God ?
(1) SV°N6 (2) ~brd ﬁy rasorerS (4) olnd
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(1) England N (G7) held its 47th summit in
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v (2)  Washington (3) Oslo
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185, Mt ti}:::}‘ ;St“ With List - 11 and select the correct answer.
(Texts) List - 11

(a) Kes_avaguta 0 géingﬂ}xiages)

(b)  Adipuran, i T 51

() D'-ll'geshnand- ; I ami

i u iii) Marathi
(d) Pancal; Sabdam (iii)
% (iv) Kannada
wg@wlai;‘,w?‘"‘ I &° eses:58) 0B DETEESR ESfEo50.
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186. Select the one from the following alternatives which is different from the other three alternatives,
EocS RS DSOS 2,663 OOK KorEoesa DY e0iaerty erod 2,8 DS ISYPEHA.
(1) Fly (2) Walk (

3 Run )  Static
187. Ina code language ‘fortune favour the brm

‘Ram is brave leader’ is written as ‘3m 2s 5e 6d’;
‘Leader favour the follower’ is written as “8r 3e 6r 6d;
‘favour the Ram’ is written as ‘Sin 3; gr ded
language ‘Ram is fortune lea er Is coded as :
géﬂé%sgo"iés 'f%urtfne favour the brave’ & ‘Se 3e 6r 7¢’ o TR,

i ‘3m 2s 5e 6d’ e
‘Ram is brave leader’ & ‘3m : ™
‘leader favour the follower’ & ‘8r 3e 6r 6d’ rre TP,
favour the Ram & ‘3m 3e 61’ M Trarth. & 8% gyghest
“ . d r &»5& gﬁa AR
(gamézf;:;u: 'fnlqea i (2) 6r7e3e3m /(3') 61 8r 3e 64
T

(4) 6d 7e 3m 8§
— S AT r
= ion Territories is home tq the p: :
188. Which of the following i{ates e () UttarPradesh, ¢ Panja] range ?
hal Prades @) Jammu & Kag}y..

(1) Amnac éméﬁ ® 5 - mjr

(3) Uttarakhand 436° B Bof§ PO o 0" 20 Soeges 33 Sl

& 308 To835° U;i? (2) eadgoLds ‘

(1) edersdd /4) B30rg S0Baify S48
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189. Arrange the following in Chronc
(a) Second Carnatic war

Battle of Buxar

Third Anglo-Mysore War

aratha war
>

)
d) First Anglo-M
(ﬁo)& i3 S8 G
(1) Bots Sgtos ASVERY

() eRBED b g

Esci)) 3wcsed esoQ:—{jmcﬂs" ¢S
) (@) ®)©
EZ; (), (o) (b), (d)
@) (@ (), (d). (©)

s / : _ »' centered at Hanumakonda was constructe

190. The faénc;;:‘;i‘f:fs"“"“a e (2) ProlaRajal by
(1) RudramadEVi ‘ (4) Achitendra
@ :,’n;‘b st B HFAY weoD’ oS HBH?
a";& S BB 2) Snce Pooeer

/g} 55580 (4) ©dBocd

te “Nitisara” in Sanskrit?

the following persons wro
191. Whoamong e

(1) KingRudradeva

(3) Manavalli Ramakrishna (4) None of the above

& 808 BS® 256 “DBFE” B> BoyyosS’ EDoath ?

(1) ore SEBS (2) 205mH DR

(B) &r559 oS 4) 25D

192. Which state is the largest producer of Chilli in India ?

(1) Karnataka (2) Gujarat (3) Kerala (4) Andhra Pradesh
BB Hoe5® Q8H5eah @ég&é&’mm Hodod U‘Qjo 0 ?
(1) Sgress 9/ thesoeds 3) 8uv¥ @) o H3AS

193. A person starts at ;/;30int A and travelled 13 meters towards North-East and then travelled
12 meters towards South and from there again travelled 13 meters towards North-East. From there
h? travelled a distance of 10 meters towards West and reached the final position B. Then the
direction of A from B and distance of B from A are respectively
(1)  South and 12 meters (2) North and 12 meters
(3)  South-East and 15 meters (4) North-West and 15 meters
&8 S58 A S 200000d6 Sy By, 6° 13 Doty Hasmelod ) Eood 12 Dexth Bk IS 39)

Dober Sirdgo B S 13 & Hofredoaeed. o8 & Kod HEHE BT 10 e Hosredod
55950 B & SHHIME. B S00& A SHSH o BF S805 A, B & Sn¢ig croren SR

/n 5§30 Sodatn 12 oerthy (2) éesto obosn 12 Mesth
(3) esthaDHo Bv6akn 15 oeatsy @) T0%HiSgo 206030 15 Aerth

34563-C/ ET 38 NORRRRD




durin i m
ofs am ra
*came a prominent Military Camp (4) Saniga

2)  Kalyani Vemulawada U7 0 850
Eooged e ehioey Soey es(, yani r (;.3’)’ e e 500D
D a2 b oo g8 St 9T o

@) gorged (3) Sﬁnvff////

ength of the Rajya Salih. i- members:

9% g Kesgess Doy
M' ! @ 280
196. Which of the fo

lIowing is a finer sedj :
sedimentary muaterial ?
(1) Gravel ’ °

Clay
(2) Sand 3) Slate 4)

65 808 T8&° ey OIGD BEEsn DA ? ¥ L "

(1) Sogs 2 ok (B) %5 / /@ i el

By~ 40 39

pl. of entering Indian ferrit made in 711 A.D. by the Arabs.
Who was the Caliph at that ﬁme% erritory was

(1) Al-Hajaj )

{ Al-Walid (3) Al-Bakar (4) Al-Qadir
S . 711 &° er6eiito  wbee Fss Sotiasres 230008 e HAF DS ?
) od&erd (2 wbos N obub 4) eod-grab
199. How many schedules are there in the Indjan Constitution ?
&8s Tresgoriods® ARy QT Ko ?
//r) 12 @ 10 @ 1u @ 9

200. Which of the following is not a function of Parliament ?
(1)  Distribution of revenues between the Union and the States .
(2) Distribution of Legislative powers
(3) Disputes relating to Water
(4) Coordination between States
&3 §08 TS° DB IR0ty Bw), DB 5o ?

(1) SoG-oegrye iy emrasrv) Howtéo

) S efseore HodEd
/‘é) 230 TN
@) orarye Hesg dongado
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